
szerokość 

[ m ] 

powierzchnia 

[ m
2 
]

+, 6,90

50,0 345,00

+50, 6,90

50,0 350,00

+100, 7,10

50,0 355,00

+150, 7,10

50,0 352,50

+200, 7,00

50,0 357,50

+250, 7,30

50,0 357,50

+300, 7,00

50,0 352,50

+350, 7,10

50,0 352,50

+400, 7,00

50,0 350,00

+450, 7,00

50,0 352,50

+500, 7,10

50,0 353,75

+550, 7,05

50,0 356,25

+600, 7,20

50,0 357,50

+650, 7,10

50,0 356,25

+700, 7,15

50,0 358,75

+750, 7,20

50,0 360,00

+800, 7,20

50,0 360,00

tabela nr 1 pt. Frezowanie istniejącej nawierzchni jezdni

kilometraż

odległość od pkt 

poprzedniego

[ m ]

jezdnia
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+850, 7,20

50,0 357,50

+900, 7,10

50,0 360,00

+950, 7,30

45,0 321,75

+995, 7,00

Suma 995,0 7066,8
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